@ Wie lautet die fehlende Zahl (bis 100)?
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Aufgabe 1
1. 88
20N
3. 57
4. 99
5 36
6. 60
7. 75
8. 89
9. 71

0. 68

Aufgabe 3
1. 85
2. 87
3. 45
4. 20
5 54
6. 23
7. 45
8. 49
9. 78

10. 52
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Aufgabe 2
1. 62
2. 39
3. 92
4. 44
5 55
6. 56
7. 53
8. 75
9. 71

0. 36

Aufgabe 4
1. 98
2. 24
3. 100
4o 91
5 41
6. 96
7. 94
8. b4
9. 63

10. 76

Subtrahieren
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Wie lautet die fehlende Zahl (bis 100)? | ANTWORTEN

)
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“Ax K\ Subtrahieren

Aufgabe 1 Aufgabe 2
1. 88 - 43 = 45 . 62 - 30 = 32
. 53 ............... L o 23 ............... L
3. 57 - 32 --------------- = 25 59 . 47 --------------- = 45
4o 99 - 31 ---------------- = 68 4. 44 - 35 --------------- = 9
S 18 ............... L e 16 ............... o
Lo 11 ................ o e 22 ............... L
e 34 ............... o o 25 ............... -
C e 7 2 ............... o Coe 13 ............... .
Coa 14 ............... - Coa 12 ............... -
. 31 ................ . oo 17 ............... o
Aufgabe 3 Aufgabe 4
1. 85 - 51 = 34 1. 98 - 52 = 46
e 60 ............... - e 16 ............... ) .
L. 10 ............... - L 28 ............... .
420 - 19 --------------- = 1 A9 - 45 --------------- = 46
. 30 ............... L e 41 ................ ) .
T 11 ................ o, e 38 ............... -
e 16 ............... L, e 37 ............... o
C e 15 ............... L Lo 50 ............... ) .
Coe 7 7 ............... ) 1 D e 4 4 .............. o
. 32 ............... - P 51 ................ -
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